Final Term Assignment (Spring 2020)

Program: MBA-90

Semester: Summer Semester-2020

Course: Business Mathematics & Statistics

Lecturer Name: Dr. Liaqat Ali

Assignment Submitted By: Ali Latif Awan

Roll No: 15319

Question No.1

i. When 3 balanced coins are tossed and X be a random variable that denotes the number of heads then f(0) =

Answer:

- (a) 1/8
- ii. Let X be a continuous random variable and f(x) = x, $0 \le x \le 1$, f(x) = 0 otherwise, then E(X) =

Answer:

- **(b)** 1/3
- iii. If E(X) = 2 and $E(X^2) = 5$, then V(X) =

Answer:

- (a) 1
- iv. The sum of squares of residuals for a straight line is

Answer:

- (a) $S = \sum Y^2 a \sum Y b \sum XY$
- v. The value of E(aX + b) =

Answer:

- **(b)** aE(X)+b
- vi. The variation of the Y values around the regression line is measured by

Answer:

- (d) None of above
- vii. If, P(A) = 2 and $P(A \cap B) = 8$ then P(B/A) =

Answer:

- (c) 4 (Probability cannot be greater than 4)
- viii. A random variable X is normally distributed with $\mu = 50$, $\sigma^2 = 25$ and x = 0 The value of

Standardized z =

Answer:

- (a) -10
- ix. If a fair coin is tossed two times then the probability of at least one head appears is

Answer:

- (c) 3/4
- x. If A and B are mutually exclusive events then $P(A \cup B) =$

Answer:

(a) P(A) + P(B)

Pg-2/10 Q 2:-August :-Solutions - f(x) = 3/4 (3-x)(x-s) 3 < x < 5 = 3/4 (3x-15-x2+5x) = 3/4 (-x2+8x-15) Marianee = E(x2) - {E(x)}2 E(x) = fxf(x)dx = 3/4 fx(-x2+8x-15) dx = - 3/4 / x3dn +3/4 /8x2 - 3/4 x 15 / x dn = -3/4 - x4 /+ 3/4 x8 x3/2 /-3/4 x 15 x2/2 / = - 3/16 0 x4 /+ 2 . x3/- 45/8 x2/5 $= -\frac{3}{6} \left\{ (5)^{4} - (3)^{4} \right\} + 2 \left\{ (5)^{3} - (3)^{3} \right\} - \frac{45}{8} \left\{ (5)^{2} - (3)^{2} \right\}$ = -3/16 (625-81)+2(125-27)-45/8(25-9) = -3/16 (544)+2 (98) - 45/8 (16) = -3 (34)+2 (98) -45x2 = -102+196-90

$$E(x) = 4$$

$$E(x^{2}) = \int_{0}^{\infty} x^{2} f(x) dx$$

$$= \frac{3}{4} \int_{0}^{\infty} (x^{2} (-x^{2} + 8x - 15) dx$$

$$= \frac{3}{4} \int_{0}^{\infty} (x^{2} + 8x^{3} - 15x^{2}) dx$$

$$= \frac{3}{4} \int_{0}^{\infty} x^{4} dx + \frac{3}{4} \times 8 \int_{0}^{\infty} x^{3} dx - \frac{3}{4} \times 15 \int_{0}^{\infty} x^{2} dx$$

$$= \frac{-3}{4} \int_{0}^{\infty} x^{4} dx + \frac{3}{4} \times 8 \int_{0}^{\infty} x^{3} dx - \frac{3}{4} \times 15 \int_{0}^{\infty} x^{2} dx$$

$$= \frac{-3}{4} \int_{0}^{\infty} x^{4} dx + \frac{3}{4} \times 8 \int_{0}^{\infty} x^{3} dx - \frac{3}{4} \times 15 \int_{0}^{\infty} x^{2} dx$$

$$= \frac{-3}{4} \int_{0}^{\infty} x^{4} dx + \frac{3}{4} \times 8 \int_{0}^{\infty} x^{3} dx - \frac{3}{4} \times 15 \int_{0}^{\infty} x^{2} dx$$

$$= \frac{-3}{4} \int_{0}^{\infty} \left((5)^{5} - (2)^{5} \right) + \frac{6}{4} \int_{0}^{\infty} \left((5)^{4} - (3)^{4} \right) - \frac{4}{4} \int_{0}^{\infty} \left((5)^{3} - (3)^{3} \right) + \frac{4}{4} \int_{0}^{\infty} \left((5)^{4} - (3)^{4} \right) - \frac{4}{4} \int_{0}^{\infty} \left((5)^{3} - (3)^{3} \right) + \frac{4}{4} \int_{0}^{\infty} \left((5)^{4} - (3)^{4} \right) - \frac{4}{4} \int_{0}^{\infty} \left((5)^{3} - (3)^{3} \right) + \frac{4}{4} \int_{0}^{\infty} \left((5)^{4} - (3)^{4} \right) - \frac{4}{4} \int_{0}^{\infty} \left((5)^{3} - (3)^{3} \right) + \frac{4}{4} \int_{0}^{\infty} \left((5)^{4} - (3)^{4} \right) - \frac{4}{4} \int_{0}^{\infty} \left((5)^{3} - (3)^{3} \right) + \frac{4}{4} \int_{0}^{\infty} \left((5)^{4} - (3)^{4} \right) - \frac{4}{4} \int_{0}^{\infty} \left((5)^{3} - (3)^{3} \right) + \frac{4}{4} \int_{0}^{\infty} \left((5)^{4} - (3)^{4} \right) - \frac{4}{4} \int_{0}^{\infty} \left((5)^{3} - (3)^{3} \right) + \frac{4}{4} \int_{0}^{\infty} \left((5)^{4} - (3)^{4} \right) - \frac{4}{4} \int_{0}^{\infty} \left((5)^{3} - (3)^{3} \right) + \frac{4}{4} \int_{0}^{\infty} \left((5)^{4} - (3)^{4} \right) - \frac{4}{4} \int_{0}^{\infty} \left((5)^{3} - (3)^{3} \right) + \frac{4}{4} \int_{0}^{\infty} \left((5)^{4} - (3)^{4} \right) - \frac{4}{4} \int_{0}^{\infty} \left((5)^{3} - (3)^{3} \right) + \frac{4}{4} \int_{0}^{\infty} \left((5)^{4} - (3)^{4} \right) - \frac{4}{4} \int_{0}^{\infty} \left((5)^{3} - (3)^{3} \right) + \frac{4}{4} \int_{0}^{\infty} \left((5)^{4} - (3)^{4} \right) - \frac{4}{4} \int_{0}^{\infty} \left((5)^{3} - (3)^{3} \right) + \frac{4}{4} \int_{0}^{\infty} \left((5)^{3} - (3)^{3} \right) + \frac{4}{4} \int_{0}^{\infty} \left((5)^{4} - (3)^{4} \right) - \frac{4}{4} \int_{0}^{\infty} \left((5)^{3} - (3)^{3} \right) + \frac{4}{4} \int_{0}^{\infty} \left((5)^{4} - (3)^{4} \right) +$$

$$Ex^{2} = 81/s$$

$$Van(x) = Ex^{2} - \{E(x)\}^{2}$$

$$= 81/s = 16$$

$$= \frac{81-80}{s}$$

$$= 1/s$$

$$= 0.2$$

$$8.0 = \sqrt{Van(x)}$$

$$= \sqrt{1/s}$$

$$= \sqrt{0.2}$$

$$= 0.44$$

Pg-5/10 Q3: Answer Solutions - Q1 (AUB) = AMB Proofe we have to prove that if U= {1,3,5,7,9,11,13,15,17,19,21,23} A. \$3,6,9,12,15,18} B = \$ 10} C= {3,6,9,12,15,18} then (AUR) = A'OBC L.H.S=> (AUB) = U/(AUB) = {1,3,5,7---23}/{1,3,6,9,12,5,18}0{10} = {1,3,5,7 --- 23}/43,6,9,10,12,15,18} (AUB) = # { 1,5,11,13,17,19,21,23 } - i R. H-S => A = U/A = {1,3,5,----23} / {3,6,9,12,13,18} = { 1,5,7,11,13,17,19,21,23} B= U/B, = \$1,3,5 --- 23}/{10} \$1,3,5,7,9,11,13,15,17,19,21,23 {

Q NO 4	:- Ankneu	Pg-7/10
Solution:		
X	<u>y</u> _xy	X2
2	16 80	25
6	19 114	36
8	23 184	64
10	18 280	100
12	36 482	144
21	41 533	169
16	44 660 45 720	225
17		256
102	302 3863	1308
	^	
	V = Q + bx	g = V - hx
130000	$b = \frac{2xy - 3}{2x^2 - 3}$	$\frac{2 \times 2 \times 2}{1 \times 10^{2}} = \overline{X} = \frac{2 \times 2}{3}$
	D =	$\frac{n}{(4x)^2} = x = \frac{2x}{n}$
	Zx -	n
		(102)(302)
	= 3873	$-\frac{101}{9} = \frac{101}{9} \Rightarrow 11-33$
	1308	- (10 <u>2</u>) ²
ERISSISSISSISSISSISSISSISSISSISSISSISSISS	2883	$\frac{-3422.6}{-1156} \Rightarrow \frac{430.4}{152}$
5 19 19 19 19 19 19 19 19 19 19 19 19 19	1308	- 1156
BURNISH SHARE	= 2.8	83
The state of the s	= 2-0	

P9-8/10 Y = {Y 1 = 33-5 $\bar{X} = 11 - 33$ b = 2-83 = 33-5 9 = 33.5 - 11.33 (2.83) = 33-5 - 32-064 = 1.4361 V = 1.4361 + 2.83x The estimated segression cofficient is b = 2-83, which indicates that the value of 4 increase by 2-83 unit 70x q unit, increase in X.

Rg-10/10 Median = $\left(\frac{n+1}{2}\right)^{\frac{1}{1}}$ item = $\left(\frac{11}{2}\right)^{\frac{1}{1}}$ item = S-5 Th item = Sin item + 6 in item = 16 + 18 $=\frac{34}{2}$ Mode = 20 and 15 (Most respected value)